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Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

(@ If A={a b c} and B={], 2, 3}, are they
equivalent sets?

M A={q b, c} WF B={], 2 3} A, oF
TIfS TH1 TG 2 ?
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(2) (3)

(b) Give an example of disjoint sets. (9) Find :
ifves w12 b1 S fin | il
J-esxdjc
(c) Is 2++4) an irrational number?

(2 +/4) b1 wetfizag s =0 (h) Write a polynomial function of degree 4.

4 TR <ot Fe e

d i ’
(d) le?n t‘he function f(x) = ax+b, find the
derivative of fl. (i) Write a null set.

f(x)=ax+bmf(xﬁwﬁw' @b e el forl |

Find the second order derivative of the

e) Find : 0) :
s B function y=7x-9.
9 ;
03/4 y=T7x-9 wowOR fER AN
‘2—1/‘4— Sferedr |
 Th 2. Answer the following questions : 2x5=10
€ graph of the rational function y = £ . e T eppiEd e fr
or = i g §
gr&pjl?}recct 18 known as (exponential " (a) Find the Cartesian product PxQ from
a?g:lar hyperbola). the following sets :
oose the correct opti
L pHom) wee fial R R SRERAA e Px Q
y“;ar.xy:CWmo\w i%[ ﬁ"ﬁ[ﬂ:
el P=4109. 3}
T 1 (s SRIVARIE S CoE R EE ) 0=1{x
(o st A1tk Sferean)
22A/429 i
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(4) (5):

®) ?f the domain of the function y=10+5x 3. Answer any four of the following questions :
is {x:2$x$4}, find the range of the ' . 5x4=20
function. " . . / R s
M y=10+5x  FEECER wfcwa
{x:2<x< 4} |/, (8 FAHRE R Aefy (a) Verify the properties of union of sets by
0 o taking numerical examples.
TR Sz oA TR fem oz afeem
|
fc) Evaluate o
T el 9 (b) Show that the following function is
x2_9 ) discontinuous at the point x=0:
lim = _—
x-3 (x-3) wore fam wemol x=0 W ffvzm ﬂﬁ
| CTYEA :
- fly=1 x>0
(d) If AR= ¢ 30 and price elaSticity £ =0, x =0
demand is 4, find MR, © , =-1 x<0
M AR= ¥ 30 9% i
] ﬁﬁ?]m 1 , .
4 =W, (38 MR fefy 37 ¢ (c) Find _g_y_ and E%Cy— for the following
X 2
functionl' 2%:+2%=5
(¢) Examine whether the following funct; e fm weoR o[ Y o Y ff
is convex or concave - on 9x 9x,
) & T, <Rt 1 5%, +3
f(x)=x ~4x_5 i y= x2 _2
22A/429 ,
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(d) Fin,

(e)
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(6]

of the function y L using the
X

definition of derivative.

TN 0 damt IR oy =L germ %
X
ferefey <ma |

Find the relative éxtreme value

(maximum or minimum) of the fol]

owing
function :

Compute marginal productivity of
capital (MP) and marginal productivity
of labour (MP;)at K =1and L =2 for the
following production function where Qis
output, K is capital and L is labour :
24+2Y%=5

Q=3KL? +4K3L + 2 +oK
ﬁK:lWLﬂﬁg,(mwfw
CRAWT T ofay T AT Seomrare
MPy) W% w3 oif TR ool
s , ol (MP)

° QWA A 5 Beomm, K s

T EF LSy Y

Q=3KL2 +4K2L+2L LoK

{ Continued )

4. Answer the following questions :
woTe 1 2R TSl .

(@) A monopolis

22A/429

(7))

10x4=40

t demand curve is given b_y
P=100-50Q where P is price and Q 1is
quantity demanded.

=100-5Q
mﬁmﬁmﬁm&mmnﬁp 1
ng’ﬁp‘ﬂmﬁw QWB@WWW

=Y, (908
() Find the MR function.
MR e fefd 05

Establish the relationship between A
slopes of AR and MR curves.

AR o® MR &4E BIRERSE T 1o
41,

(it)

i i hich MR is zero.
(iii) Find the priceé atw o s

MR 3fi 0 2, 7@ el T4
Or / 94l

State and prove the product rule of

i 10
differentiation.
FEFE JRE Ao (K1 o 2
ESIN :
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(8)

(b) Derive the following
between Average
. Marginal Revenue
‘Demand (e,) :

relationship
Revenue (AR),
(MR) and Elasticity of
10

Ww(m),mféqsm(MR)ww&m

ﬁi%mmwwwm%ﬁvﬁmw:
AR

ed =
AR-MR

Or/ g1 -

Given the demand and average
cost function of g monopolistic firm,
as P=32-30 and AC=Qig,s
respectively, - what Jeye] -of . outpuci):
maximizes to

tal profit? What are the
corresponding values of TR

» AR, MR, TC,
AC, MC and profit? 3+1+1+1+1+1+1+1=10
A ORI AT SR W oy
FEE W mw, p-=

T Foe

¢/ () Derive the TC function from the

given MC function, Mc = 30-4,
when tota] fixed cost = 100. S
22A/429 ( Continued )
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(@)

() Ina market survey, 200 consumers
i

22A/429

(9)

WW,MC=3Q—4RW®W
g (rc) Shew W ¥ B3 W
100 & !

; iven

) e saving function, 8“{

Fmg otllt :)hz ¥ /3 ith zero saving
MPS=1-Y" 5
when income y =125.

1 ive their
interviewed to gr
w:;;'::rence for two products X 3::1
1;' Survey results shov;( hat
: duct
referred Ppro
]i;g pxiferred product Y. Ho:vd n*:)aonti
f the respondents prefe;:r »
(})( and Y? Draw a Venn diagram ]
show the result.

QWW@“@XWY;
g @S 200®W  (SEN :r:m
ArFIeFR A T e | TS

T @ 110 T (OISR X AR WE
120 &GH Y ANMCH! 5% T | R
oTET, X S Y Al TR W I ?
FRPE CYAIRCeT By (o o SR
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( 10 | (11 )

1 5
(i) Explain the concept of (iii) I[IOxs o —2e* +-J-c-)dx
Quassi-Convex and Quasi-Concave X
function. 5
v -x gy
oSS o TA-Uee TR AR (iv) [xe

R foram

(v) is(xz +3x+2)°2
dx
(d) The total cost function of a firm is given
by C=Q> -60Q2 +20Q +50. Find the level .
of output at which the average variable
cost (AVC) is minimum. Also show that
AVC = MC at that level of output. 7+3=10

@ AT W W wen AR
C=0Q%-60%+20+50 =, (=@ oo
“fRedamiE T4 (AVC) oW @Rl Beorer
AR Tferea ) o S e
AVC = MC i (redl |

Or / 941
Evaluate : 2x5=10
a1 e g
® E‘i—c(x2 ¥ 3y

(ii) -[:2 x2dx
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